Quiz for Unit 4

I. Vocabulary and Structure

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B), C) and D). Choose the ONE answer that best completes the sentence . Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

1. Sea food of all kinds is ___________ in the states that border the oceans. [CET6. 92-1-67]

A) abandoned B) advantageies C) abundant D) accumulated

2. What sort of ___________ can you get for the night in a city like this!

A) commission B) interaction C) accommodation D) recommendation

3. The car is quite ___________ of petrol. [CET4. 91-1-58]

A) economic B) economical C) saving D) sparing

4. I can not give you ___________ for the type of car you sell because there is no demand for it in the market. [CET4.93-6-43]

A) in expense B) a charge C) a purchase D) an order

5. Please don’t ___________ too much on the painful memories. Everything will be all right. [CET6. 01-6-66]

A) hesitate B) linger C) retain D) dwell

6. These excursions will give you an even deeper ___________ into our language and culture. [CET6. 90-1-64]

A) inquiry B) investigation C) input D) insight

7. The manager gave her his ___________ that her complaint would be investigated. [CET6. 02-1-46]

A) assurance B) assumption C) sanction D) insurance

8. This law ___________ the number of accidents caused by children running across the road when get off the bus. [CET6. 94-1-53]

A) intending to reduce B) intends reducing C) intended reducing D) is intended to reduce

9. He soon received promotion for his superiors realized that he was a man of considerable ___________. [CET4. 02-6-48]

A) ability B) future C) possibility D) opportunity

10. Their diplomatic principles completely laid bare their ___________ for world conquest. [CET6. 01-1-33]

A) admiration B) ambition C) administration D) orientation

11. Young people are not ___________ to stand and look at works of art; they want art they can participate in. [CET4.00-6-24]

A) conservative B) content C) confident D) generous

12. Although the national government has introduced some new law on this subject, it is ___________ the state governments which are responsible for pollution control. [CET6. 91-6-69]

A) precisely B) primarily C) progressively D) preliminarily

13. Cancellation of the flight ___________ many passengers to spend the night at the airport. [CET4. 01-1-44]

A) resulted B) obliged C) demanded D) recommended

14. The patient’s health fell to such an extent that he was put into ___________ care. [CET4. 98-6-54]

A) tense B) night C) intensive D) tight

15. The government has devoted a large slice of its national ___________ to agriculture than most other countries.[CET6. 98-1-54] 

A) resources B) potential C) budget D) economy

16. The travelers ___________ their journey after a short break. [CET6. 95-1-70]

A) recovered B) resumed C) renewed D) restored

17. As early as 1647 Ohio made a decision that free, tax-supported schools must be established in every town ___________ 50 households or more. [CET4. 98-1-36]

A) having B) to have C) to have had D) having had

18. As a result of careless watching the jacket ___________ to a child’s size. [CET4. 98-1-50]

A) compressed B) shrank C) dropped D) decreased

19. You can’t afford to let the situation get worse. You must take ___________ to put it right. [CET4. 93-6-69]

A) decisions B) directions C) sides D) steps

20. A fire engine must have priority as it usually has to deal with some kind of ___________. [CET4. 02-12-55]

A) precaution B) crisis C) emergency D) urgency

II. Fill in the following blanks with correct adverbs or prepositions. (10 Points)

1. After the robbery, the shop installed a sophisticated alarm system as an insurance ___________ further losses. [CET4.96-6]

2. The construction of a 5-million-ton iron and steel works is now ___________ consideration. [CET6. 93-1-59]

3. David likes country life and had decided to go in ___________ farming. [CET6. 95-6-66]

4. The older New English villagers have changed relatively little except ___________ a gas station or two in recent decades. [CET4. 01-6-51]

5. It has been rather costly to install the machinery, but it will prove to be worthy the money ___________ the long run. [CET4. 91-6-65]

6. Julie is one of these women who always go for the latest fashions. [CET6. 91-6-62]

7. This is an ideal site for a university ___________ that it is far from the downtown area. [CET6. 96-9-56]

8. Students or teachers can participate ___________ excursions to lovely beaches around the island at regular intervals. [CET4. 97-1-23]

9. So long ___________ he works hard, I don’t mind when he finishes the experiment. [CET4. 98-1-23]

10. Having decided to rent a flat, we set ___________ contacting all the accommodation agencies in the city. [CET4.98-1-52]
Key to Quiz for Unit 4

I. 1. 答案：C。 [考点及解析] 句意：各种海洋食物在沿海岸的各个州都物产丰富。该题主要考察对形容词的理解。abandoned adj. ①被抛弃的 ②自甘坠落的 ③没有约束的；放荡的；advantageous adj.有利的；abundant adj. ①丰富的，充裕的 ②丰富盛产，富于的；accumulated adj. 积聚的，堆积的。
2. 答案：C。[考点及解析] 句意：在像这样的城市里你能找到什么样的住所过夜!本题主要考察对名词的用法。commission n. ①委托，授权 ②佣金； interaction n.相互作用；accommodation n. ①住处，膳宿 ②( 车、船、飞行等的) 预定铺位，recommendation n. ①推荐，介绍( 信) ②劝告，建议。
3. 答案：B。[考点及解析]句意：这辆车非常省油。本题主要考察形容词用法economic adj. ①经济( 上)的 ②产供销的，经济学的。economical adj. ①节约的 ②经济的 saving adj. ①搭救的，挽救的 ②节约的，节俭的 ③保留的，补偿的 n. ①存款 ②救助 ③节约。sparing adj. ①节俭的 ②保守的。
4. 答案：D。[考点及解析]句意：我不能给你这种型号汽车的订单，因为在市场上的需求不大。本题考对词意的理解。expense n. ①费用，代价；②损失；③开支；④费钱之物。charge n. ①负荷，电荷 ②费用③主管，掌管 ④充电，充气 ⑤冲锋 ⑥收费。purchase vt. 买，购买。n. 买，购买。order n. ①次序，顺序②正常工作状态，秩序 ③会议规则 ④命令 ⑤定购，定单。 vt. ①命令 ②订购，定制。
5. 答案：D。[考点及解析]句意：请不要再去想这些痛苦的记忆，一切都会好起来的。本题考对动词的理解：hesitate v. ①犹豫，踌躇 ②不愿。linger v. ①逗留，闲荡 ②拖延；③游移 retain vt. ①保持，保留 dwell vi. ①居住 ②踌躇 ③但是，dwell 可以和on 搭配，意思是“细想，详述。”
6. 答案：D。[考点及解析]句意：这些远足旅行社将让你对我们国家的语言和文化有更深刻的理解。本题考对名词的理解。inquiry n. ①质询 ②调查。investigation n.调查，研究；input n.输入。 v.输入。 insight n. 洞察力，见识。
7. 答案：A。[考点及解析]句意：经理向她保证一定调查她所投诉的情况。从上下文看，宾语从句内容显然是经理对“她”所做的保证，所以答案是assurance sanction n. 批准，认可；assumption n. 假设。 Insurance n. 保险。
8. 答案：C。[考点及解析]句意：这项法律想要减少孩子们下车过马路的时候导致的交通事故。本题考察学生对intend 一词用法的理解，intend to do something 打算做某事，或者intend doing something 计划，打算做某事，从四个选项来看A 项，虽然是不定式，但是不应用分词的形式，只有C 项才符合条件。
9. 答案：A。[考点及解析]句意：他很快得到了领导的提拔，因为领导意识到他是一个相当有能力的人。本题考察对名词的理解；ability n. 能力，才干；future n. ①未来；将来 ②前途，远景；adj. 未来的，将来的；possibility n. ①可能性 ②可能发生的事物；opportunity n. ①机会，时机。②通过上下文看，应当选ability。
10. 答案：B。[考点及解析]句意：他们的外交原则彻底地将他们要征服世界的野心暴露无疑。本题考察学生对名词的理解 ambition n.野心，抱负admiration n. 赞美 administration n. 行政，管理 orientation n.方向，方位。只有B 项ambition 是正确答案。
11. 答案：B。[考点及解析]句意：年轻人并不满足于旁观艺术品，他们渴望自己参与的艺术。本题考察学生对形容词的理解；conservative adj. 保守的，守旧的。 n. 保守派；content n. ①内容，容量 ②目录 ③满足 adj. 满足的，满意的，愿意的； vt. 使满足；confident adj. 自信的；确信的；generous adj. ①慷慨的，大方的 ②有雅量的，通过上下文理解，应选择B 项content。
12. 答案：B。[考点及解析]句意：虽然中央政府部门在这个问题上采用了新的法律文件，但是对污染的控制还是主要由各州政府负责。本题考察学生对副词的用法，precisely adv. 正好，精确；primarily adv. ①首先，起初 ②主要地，根本上；progressively adv. 日益增多地 preliminarily adv. 预备地，初步地，所以B 项是正确答案。
13. 答案：B。[考点及解析]句意：航班的取消使得许多乘客被迫在机场过夜。本题考察学生对动词的理解。result n. 结果，成效，计算结果。vi. ①起因，由于，以…为结果 ②导致，但是一般和in 搭配，意思是“导致”，oblige vt. 迫使，责成，常常和to 搭配，意思是“迫使某人做某事”。demand n. 要求，需求( 量)，需要。 v. 要求，需要，要求知道，查询。recommend vt. 推荐，介绍，劝告，使受欢迎，托付，使…受欢迎，使…可取，通过对比，应选择B 项。
14. 答案：C。[考点及解析]句意：这个病人的健康状况恶化到这个地步以至于他被特别护理。本题主要考察对形容词的理解。tense adj. 紧张的，拉紧的 rigid adj. 刚硬的，刚性的，严格的 intensive adj. ①强烈的②精深的 ③透彻的 tight adj. ①紧的，绷紧的，紧密的 ②不透水( 气) 的 ③吝啬的，而且intensive 常和care 搭配，意为“特别护理”，因此，C 项是正确答案。
15. 答案：A。[考点及解析]句意：政府已经投入大笔国家资金发展农业，该资金比大多数国家投入的大得多。本题主要考察对名词的理解，通过上下文看，这里应该是“资金”的意思。但potential adj. 潜在的，可能的。n. 潜能，潜力； budget n. 预算 vi. 做预算，编入预算 economy n. ①经济，节约 ②节约措施，经济实惠 ③系统，机体 只有resource 用作复数的时候，可以当“资金”讲，所以正确答案是A 项。
16. 答案：B。[考点及解析]句意：旅行者在经过短暂的休息之后又继续赶路。本题明显表明短暂休息后要继续做中断的事情。recover vt. 重新获得，恢复，使改过vi. ①痊愈；复原 ②胜诉。resume n. ①摘要，慨略 ② ( 美) 履历 vt. 再继续，重新开始，重新占用，再用，恢复。renew vt. ①使更新，使恢复 ②重申，补充续借 ③复兴 vi. 更新，重新开始，恢复restore vt. 恢复，使回复，归还，交还，修复，重建，所以正确答案是B 项。
17. 答案：A。[考点及解析]句意：早在1647 年俄亥俄州就做出一项决定，免费的，由税收支付的学校必须在每个超过50 户人家的镇建立。本题虽然不是直接考察to 这个词，但可以看出它的一些搭配，本题主要考察非谓语的用法，通过上下文看，后面50 户人家作定语修饰town，所以这里应该用分词表示修饰限定的定语，因此答案是A 项。
18. 答案：B。[考点及解析]句意：由于洗涤不小心，这件夹克缩水到了小孩的尺寸。本题虽然不是直接考察该短语，但是可以看出它的用法。本题考察对四个动词的理解：compressed adj.被压缩的，扁平的 shrink v. 收缩，( 使) 皱缩，缩短 drop v. 滴下，落下( 使声音等) 变弱，( 使价格等) 下降，使跌倒，使结束，不再讨论，停止与( 某人) 交往。n. ①落下，下降 ②滴，滴剂，点滴 ③微量 ④下跌 decrease n. 减少，减少之量。v. 减少。综合上下文，B 项是最佳答案。
19. 答案：D。[考点及解析]题意：你不能让情形变得恶化，你必须采取措施纠正。本题主要考察对四个名词的理解。decision n. ①决定，决心 ②决议 ③结果 ④果断，决定；direction n. ①方面，指导 ②趋势 ③(pl) 指示，用法，说明( 书) ④收件人地址。sides n. 侧 step n. ①脚步，步幅 ②步调，步伐 ③步骤 ④措施⑤梯级，台阶；还有step 可能和take 搭配，构成take steps to do sth. 意与“采取措施做…”，所以D项应是正确答案。
20. 答案：C。[考点及解析]题意：消防车必须有优先权，因为它通常要处理一些突发紧急事件。本题主要考察学生对名词的理解。precaution n. 预防，警惕，防范；crisis n. ①疾病的转折点( 好或坏) ②决定性时刻 ③危机，危险期；④紧要关头 emergency n. ①紧急情况，突发事件 ②非常时刻，紧急事件 urgencyn. ①紧急，紧急的事 ②强求；③催促 ④坚持。所以根据句意C 项是正确答案。

II. 1. against。遭到这次抢劫之后，这家商店安装了复杂的报警系统以防再受损失。【解析】insurance n. 保险措施，预防( 手段) 后接against 表示“针对…保险”。
2. under。关于一座500万吨钢铁厂的建造正在考虑当中。【解析】本题考察under和四个选项的搭配：under consideration 是固定搭配，意为“在考虑中”，符合题意。
3. for。大卫喜欢乡村的生活，决定务农。【解析】本题主要考察对go in for 的理解，go in for v. ①参加 ②追求 ③从事 ④赞成。
4. for。古老的新英格兰乡村的变化相对较小，除了最近几十年有一两个加油站以外。【解析】本题主要考察对except for adv. 除…以外的理解，except vt. 除把…除外的，prep. 除了…之外，except for 表示不属于一个范畴的事物。
5. in。虽然安装这种机械开销很大，但是从长远观点看将是物有所值。【解析】本题主要考察对in the long run adv. 的理解：①最后 ②从长远的观点看。
6. for。朱丽是那些追赶最新时尚的妇女中的一员。【解析】本题主要考察对go in for 的理解。go in for v. ①参加 ②追求 ③从事 ④赞成。
7. in。这是一个大学的理想位置，因为这里远离城市的闹市区。【解析】本题主要考察对in that 的理解。In that 因为。
8. in。学生或者老师能够定期参加环绕整个海岛观看美丽海滨的游览活动。【解析】本题考participate in 的固定用法。
9. as。只要他工作努力，我不介意他什么时候完成这个实验。【解析】本题主要考察对so long as 的理解：as soon as adv. 一…就。
10. about。在决定租一套公寓后，我们开始着手联系城里的所有的房屋出租商。【解析】该题主要考察的是set 的搭配；set about v. ①开始 ②散布 ③攻击 ④着手。

III.

(1) The outside world begins creeping into the schools when the children reach the age of 13 and other, the age when they begin to make subject choices and when, according to a careers officer‘, they know if they’re a scientific lot or more inclined to the arts. The difficult part is bringing the outside world to life with all its opportunities and realities. Schools are handicapped because they are staffed by people who only know about schools. Careers services are heavily influenced by what is readily available in the area, which may be sausage-making in Wiltshire or ship-building in

Clydeside. Somewhere out in the world there are snail geneticists and landscape gardeners and girls who polish Elizabeth Taylor’s diamonds, but the careers officer knows little of them. What he knows about is engineering and hairdressing and opportunities in the Army. It is not surprising that this constant friction between grand aspirations and uninspired reality produces cynicism in other parties.

Wherever they work, sixteen and seventeen-year-olds can find themselves used as cheap labour, picking things up off floors, fetching and carrying. Some are paid a reasonable wage but it is quite possible to be paid only pocket-money. That’s in the living-in jobs like hotel work. There is a small breakthrough of girls into traditionally male preserves like agriculture, but that may be because very few boys now would put up with the low wages. Most girls, despite women’s liberation, head straight for hairdressing, nursing or office work and dream of being swept off their feet by the boss.

1. In what sense does the author say the outside world begins“creeping into schools”when children first make subject choices?

A) Children begin to become interested in careers possibly open to them.

B) Children know what they are good at, science or arts.

C) Children start to make constant contact with careers officers.

D) Children start to be concerned with what occupations they will be able to obtain.

The result of the present staffing arrangements in schools is that . 

A) teachers can concentrate on teaching

B) schools can offer little help in finding career opportunities

C) students are well prepared for whatever jobs they will get

D) students leave school unqualified

3. According to the passage, the youth become cynical because .

A) they feel they are misled by careers officers

B) they can’t accomplish in reality their strong desires to become scientists or to do something great

C) what they learn at school is quite different from what they see in society

D) they are treated unfairly in society

4. According to the author, some girls start to engage in agriculture probably .

A) because they think they can do what boys can do

B) because they have no other alternatives

C) because there lie new career opportunities

D) because that’s what the Women’s Liberation Movement advocates

5. A suitable title for the passage might be .

A) The Gloomy Job Situation for the Youth

B) The Difficulties in Job Hunting for the Youth

C) The Disability of Careers Officers

D) The Friction between Aspirations and Reality

(1 — 5 题答案：A B B D B)

(2) Orientation in Life

Choosing what to do in life is one of the hardest decisions that a person has to make. Some people choose too early and regret their choices, while others choose too late and miss the opportunities that they had earlier. In order to make the correct choice people must understand themselves and their abilities.

Everyone has dreams which they want to make real, but many people try to reach goals which are beyond their grasp. Often taking the time to look at things from a different perspective will allow one to see other options that were previously hidden.

Some things are very difficult to change — it is hard to change an introverted person into an extroverted person, for example. It takes a large amount of time and larger amount of work. It would be much easier to choose a specialty that fits what type of person you are. Also, choose a specialty that fits your talents. If you are good at singing, then you should consider being a singer. If you do not sing well but you want to work with music, then you should consider being a composer or a producer.

Making a good choice is tough but possible if you remember to consider your habits and your personality. Once you have made the right choice, you are on your way to a successful life. 

The topic sentence is Choosing what to do in life is one of the hardest decisions that a person has to make. Examples: some people choose too early and regret their choices, while others choose too late and miss the opportunities that they had earlier.

Some other words which can help remember the main idea of this passage: Some people try to reach some goals which are beyond their grasp. Some things are very difficult to change.

Also in this passage, the key word is:“ choose”. It appeared repeatedly in this passage to present the main topic of this passage.
